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1-refers to the ability of its holders to force obedience of other people
to Power

2-According to The Sapir-Whorf hypothesis, there is an causative link
between ........

culture and language
3-Artificial intelligence is the study of how to make computers ............

more sophisticated

A gl

1-.Saussure divided language into two parts: ....... and parole
Langue

P A Y O The link between the signified and the signifier is
Arbitrary

3-.is the actual use of language in both speech and writing .........
Parole
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.1-language is usually used in poetry not in science ............
-Aesthetic

2-is concerned with power: the power to make decisions, to .........
.control resources, to control other people’s behaviour and value
-Politics

B, T Physical coercion is associated with
-dictatorial regime

4- the media can represent a powerful souiety because it ...
a-can select what counts as news

b-can decide who gets on the television, radio or newspaper
c-has become an integral part of most people’s lives

d-all the above

il 23 e
Jo¥) al gl

1-document how a language is actually ......cccceecmimemnmnenmnneannns .used by
its native speaker

b)descviptive grammars

2-is the actual use of linguistiC ..c.ccimiiiiiiiiies s s knowledge
b)linguistic performance

3-Language processing is subconscious, this means

a)it happens without the mental capacities being being fullyactive
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1- Lexical entries are organised .......... in the brain
a-according to their meaning and sound

2- The tip of the tongue phenomenon mean
c-remembering some details about a word, but not the word itself)

3- remembering some details about a word, but not the word itself)

d-Check peoples’ access to lexical entries

EMAY gl

Which of the following is not an indication that a
communication:system is based in the biology of its users

Being made of sounds and symbols

2- A language impairment following an injury to the brain)

A language impairment following an injury to the brain

3- Supra-segmental information in the signal may include features :like

Variation in duration)
Variation in pitch)
Variation in stress)

All of the above)
4-:Working memory is

Short-term Memory
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1-Which poet said: “A man who follows another not only finds
?”nothing; he is not even looking

d)seneca

2-Who was the first philosopher/critic to make the distinction
?between Mimesis and Diegesi

c)plato

3-Aristotle says that a good tragedy must have

a)six parts

O LA PN
1- Defamiliarization” or “The Making Strange” is a technique that

:became famous among

.Russian Formalists

2- :Russian Formalists had an ambition to
To establish an autonomous science of literature

3-According to Roman Jackobson, “the subject of literary science is
...not literature, but
Literariness

Gl Gaad gl

1-...In literary criticism, Structuralism
b-continued the work that was done before by Russian formalism

2-According to structuralist critics, literary criticism should focus
:exclusively on

c-The text

3-Structuralism tries to analyze literature from

b-ascientific point of the view

4-the Actantial Model was developed by
c-A.J. Gerimas
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1-Drama was revived in the last decade of :

19th

2- Oscar Wilde was the greatest pracitioner of the
Comedy of manner

3 -Had taught men that the real drama must deal with human relation
Ibsen

S i)

1- .was written by Jhon Galsworthy......
d-.The Silver Box

2-.Krogsrad dropped ......ccceumummnnsnnans into Helmer's locked lettert Box
c-A letter
3-.Krogstad has received the letter of ........cccevmmieninnnn from Helmer

b-Dismissal

Gl aal gl

1-Shaw added prefaces to his plays to make his ideas
B-Explicit

2-n the Doctor Dilemma, Shaw exposed the superstition that

...... doctors are

c-Infallible

3-.At the end of A Doll's House , Nora decides t0 .......cccuuees Helmer
A-forsake

4-Which of the nicknames is not a nickname Helmer uses for Nora
D-peaches
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1. Research is
Looking for new ideas and findings

2. An Abstract is

A summary of the whole thing

3. Agood classical report will consist of
Abstract-introduction-literator review-methodology-results

P A N A

1-In the introduction:
You introduce the study and its significance

2- In the literature review:

You talk about all previous studies and a critique for them

3-Plagiarism is:
Representing other authors’ lanquage and ideas as your own original

work

Gl aal gl

the dependent variable is -1
a- The variabel that is affected by the
independent variable

2- the significant difference has to be at the level
of

b-P=.05

3- if you have one variable in your research then
itis

b- Unvariate

4-we use questionnaires in research as a

a-Tool to collect data
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1-reativity’ generally means the act of¢

.A. turning new and imaginative ideas into reality

2-the most appropriate translation of “Alone my love, with you (2
alone. In the boat of love we sing and dance” is

dpe)y el sl B A Ll sl

3-it is not easy to translate a Prophetic style because it is (3

. divine and humane
LA RUEN P

1- In any type of translation draft, we are bound to encounter (
A. a number of ‘gaping holes’ and pitfalls

2- Types of texts are normally viewed in translation as
B. either literary or non-literary

3-An oratory is defined as
.C. the art of swaying an audience by eloquent speech

G qaal gl

1-opriate translation of ‘His body was buried at the (1 foot of the
orchard’ i

du\dm‘;ﬁé

2--:According to Rollo May, ‘creativity’ in general requires
-passion and commitment "



3-The most appropriate translation of ”

bl agliald 83 7 Ha JB il e jee ool 2™
3-once upon a time three men went out for waik.were caught up by
heavy rain

4-The term ‘skopos’ is used in translation to refer to (
the aim of its translation carries over the ST function into the target
text



